Uil2 (2091AK)

XTI BALTERIKEANFEL LD

A gsrs ERAE LS EX7]

B No X B L7U—| No %o &k L7Y—
930 1 |TRF4—A — STG % | 1 | JLte—0 — T7AX— =7
955 | 2 |TRF4—0O — ISS 2% | 2 M= — BED 23
10:20] 3 STG — gLte—)L | 2% | 3 s — T7RX— EF

11045 4 |zz7+—0o — sLt—L | sz | 4 HHD — ISS EF

Al11:10 5 STG — 7 RX— 3% 1 5 s — ISS e

(6] 11:39 6 |TATs—0O — BEED “3% 1 6 IR — gLt—IL | s

. 12.00] 7 STG — BED 2% | 7 T AX— — ISS 3%

41225 8 STG — K 4% | 8 T RX— — | IRTq—0A| s
12501 9 | 7Lt—L — ISS “3% 1 9 M= — IRAT4—A| &8
13:15] 10 STG — ISS 4% | 10 T RX— — BED CF
13:40| 11 K — T RX— sz | 11| sLeE—0 — BED EF
14:05| 12 STG — ISS sz | 12 | JLE—1L — | IRTq—A| s
14:30] 13 M= — BED 2% | 13 ISS — ITRAT4—A| &3
14:55] 14 STG — HEED 4% | 14 | JLt—L — T A— =

15 - #2z | 15 - iy
16 - x22 | 16 - iy
17 - sz | 17 - iy
18 — wuiz | 18 — iy




Ul2 (2091AK)

XTI BALTERIKEANFEL LD

Al g ERAE LS EX7]

B No X B, L7U—] No i B L7—
900 1 | JLtE—1L — STG 2| 1 HED — FAX— 3%
925 2 | JLte—1L — TA— 2% | 2 BEED — STG =6
950 3 | JLt—IL — s @3] 3 NS — STG EF

lois| 4 | ss0 — s | sz | 4 |[RKonn—xA - 72— | um

Al 10:40 5 BEED — gLt—iL | g% | 5 |HKRo/N—XB — &R EF

4| 11:05] 6 K — T RX— %] 6 |R/N—XA — STG EF

g 1130 7 &R — T RX— wiz| 7 |Ro/N—XB  — HHED EF

- 11:55] 8 K — STG %] 8 |R/N—XA — &R EF
1220 9 BED — 7 RX— | 9 |Ro/N\—XB — gLt—IL | 4z
12:45] 10 BEED — s 231 10 G| — gLt—IL | &%
13:10) 11 | Ro/"—XA — 1k wz | 11 STG — gLt—IL | 4
13:35) 12 | K>/ \—XB  — TRX— sz | 12 HHD — SRm | L
1400 13 | R/ "\—XA — gLt—)L | s | 13 STG — SRm | L
1425 14 |R>/—XB  — K s | 14 | JLE—1L — TRX— L%
1450] 15 |AR>/8—XB| — STG 4% | 15 |Ro/\—XA — BED EF
15:15] 16 K — STG s | 16 | Ro/—XA]  — SRm | L
15:40| 17 s — TR— sz | 17 |Ro—XB| — SRm | L

18 — 2 | 18 — T




X GBALTEKEANELLD

A e ERFCREH ]

B No TEX L7J—] No X EX L2y~
9001 1 | yLtE— —  RunN—XAl sz | 1 oINS — IR N—XB| s
925 2 | 7IrTAY —  Ron—XAl 4% | 2 |ZTRT4—A — DAVT R | &
950 3 | JLt—L — &R |ux]| 3 |TRT,—O — RN —XB| 4

iois| 4 | 79540 — DA | x| 4 | yLE—0 — RN —XB| s

A1 40.40 5 &R — DA40X | 4| 5 |TRTF1—BO —  RUN—XA| L

1| 11:05 6 |7orSAY — gLt—IL | 2% | 6 &R — | RuR—XA| s

g 1130 7 | 7ob24Y — | ZRFqs—Of sz | T | AR — R —XB| 4

2 11:55| 8 &RmE — | ZRFqs—0O| sz | 8 | 12U R — [ ARUN—XA| s
1220] 9 &R —  ARonN—XBl &% | 9 | yLtE— — TIORSA2 | 48
12:45] 10 &R — DA | g | 10 | JLE—L — | IRTq—0O| H
1310 11 | 7IR34> — | Run—=XAl sz | 11 |Ro/—XB] — | TRFs—0O 4
1335) 12 | 7oh34Y — &R 4% | 12 | JLt—L — DAT R | L
14:00] 13 |R2/"—XA  — «Rm | ax| 13 | sLte—0 — | IRTq—A| s
14:25| 14 |/R>/\—XB = — Toksq4| g | 14 | JLE—L — DAVT R | A




